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g ued (Objecti

@l 3w (Total Marks) 28
§ol Ul @1 w1 (Total No. of Questions) 28

ug (Section) -1
o

gug (Section) -2
IR—aRIfTs U (Non-Objectivle)

@ 3w (Total Marks) 42
g IR U= (Short Answer Type Questions) 08( U 3 3i®)
4" I U (Long Answer Type Questions) 03(Ix® 6 3id)

|| Tus—1 (Section-1)

e —I8l W 9gd IR RIS U SR Afed o T 7 | w¥ie ¥ 3l a'E b 28 U Iy g
3R 3Mudl T 28 TeHAl & IR OMR SHEET WR <A1 31fFard 8111 | U U9 1 3 &7 R |
(Numbers of Objective question with answer are given below. 28 questions of this type
will be given in examination you have to answer all 28 questions in OMR SHEET. Each
question carries 1 mark.)

g U39 (Objective Type Question)

1. 9 3o ufshar & wnfie 8 ® —

(A) wrer (B) T

(C) orgfsbam (D) Sugaet wf
Learning Process involves:-

(A) Drive (B) Cue

(C) Response (D) All of these

2. SUHH BT gAd BRI THI M o7 A 45 § —

(A) S (B) fauor

C) Ut o1 Sucterar (D) g9 & BTS2

The Point which Considered while selecting an enterprise is:-
(A) Product (B ) Marketing

(C) Availabity of capital (D) None of these
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3. I IuTed B AN WR &_AT 81 ) U ST¥l Iddd & [hd YT BT JHE HRdl 8 2
(A) THIP IR (B) wTETGETRY
(C) wuN (D) 314 9 BIg

An Entrepreneur prefers which form of organization if production is to be
undertaken on small scale basis ?

(A) Sole Trade (B )Partnership
(C) Company (D) None of these
4. RN B —
(A) srmaeas (B) srra=y
(C) wa &! gaial (D) &< & qardT
Planning is:-
(A) Necessary (B) Unnecessary
(C) Wastage of time (D ) Wastage of money

5. T 31D o el & —
(A) T (B) g o arell
(C) rergoi (D) weprof

A good plan is:-
(A) Expensive (B ) Time consuming
(C) Flexible (D) Rigid

Project is :-

(A') Cluster of activities

(B ) Single activity

(C) Group of innumerable activities
(D) None of these

7. DPR & —
(A) BRI ST (B) wRIaTE!l TS
(ORERIERERINE (D) SWad ¥ ¥ dIs T
DPR is :-
(A') Working Plan (B) Action Plan
(C) Implementation Plan (D) None of these
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(D) Swgaa & ¥ BIg Tel

Net working capital means:-
(A)C.A.—C.L.

(B) C.A. +C.L.

(C) C.L.-C.A.

(D) None of these

9. oifc eforr & —
(A) DY B =T
(C) &Y BT yare

Closing stock is :-
(A') Source of fund
(C) No flow of fund

afer sftrfey # afg € —
(A) BN B T
(C) &Y BT gare

10.

Increase in share premium is :-
(A') Source of fund
(C) No flow of fund

11. ITe] AU BIAT & —

(A) i fereeT argurd
(C) faf¥a srgura

Current Ration is:-

(A)  Balance sheet Ratio
(C) Composite Ratio
12. gReT AT —

(A) fSe! Tera Ifere
(B) ar<ifd® faep! e
©

(D) 5778 & ®Ig T

Margin of safety: _
(A)  Sales less contribution

(B)

(B) &Y &7 YIRT
(D) 379 & ®Ig 7T

(B ) Application of fund
(D ) None of these

(B) @Y &1 YART
(D) T4 & @ =&

(B ) Application of fund
(D ) None of these

(B) ImM—gTf+ 3rurd
(D) 7 &1 @IS el

(B) P/L Ratio
(D ) None of these

B.E.P. &} fa! T arfds faw!

Actual sales less B.E.P. sales
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(C) B.E.P.sales less actual
(D) None of these

13. URd WHR gRI AT feen—Fdel & JgarR wsiie Sl Sy & forg sko—wwdr T
o=t & —
(A) 15 (B) 2.0
(€) 05 (D) 25

According to guidelines issued by government, debt-equity ratio for venture capital
fund is :-

(A)1.5 (B)2.0

(C)o.5 (D)2.5

14, STH—TT84 W] SUE & FIfd AP Fag © —
(A) Ui ¥ srfdae
(B) wpfar # wrferefrer

(€) wfa & vt g%

(D) Sudaa w1 |

Labour-intensive technique is appropriate because it relates with-
(A)  Unstable Nature

(B) Movable Nature

(C) Constant Nature

(D)  All of these

15. "U§e] Ueh UM 2 | IS P & —

(A) SIS eTR. X (B) smR&+1 gder VAIRIwe
(C) TR wara (D) 315 & BIs T8l |
“Management is a Profession.” This statement is of :-
(A) George R. Terry (B ) American management association
(C) Henry Fayol (D) None of these
16. fqUoE @R =g fdar T 99 © -
(A) FataT
(B) 3rTdegd Iy
(C) uTEdI W R
(D) fafrare=

Money spent on marketing is:-
(A) Wastage

(B ) Unnecessary

(C) Burden on the customers
(D) Investment
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17.

18.

19.

20.

21.

22.

oo sraemRoT § —

() e (B) fzmeityed
(C) uTSdHI=IE (D) ¥ = |
Marketing concept is :-

(A)  Production — oriented

(B) Sales—oriented

(C)  Customer — oriented

(D)  All of these

IFCI Zerfod &1 s, a9 & —
(A) 1939 (B) 1948
(C) 1950 (D) 1956

IFCI was established in the year :-

(A) 1939 (B) 1948

(C) 1950 (D) 1956

TBIT T § —

(A) =i (B) =ret

(C) srg—aet (D) s | B T |
Telephone Expense is:-

(A) Fixed (B) Variable

(C) Semi-Variable (D) None of these
AT BT 31l 7 —

(A) TP HIGT §RT TEX ST DI o ol

(B) © a1 1frd rarai &1 st

(C) 3 v # = e ura o3l

(D) SWad H ¥ By o |

Marger means :-

(A)  Taking over one organization by another organization
(B) Combination of two or more business

(C)  Acquiring controlling interest in the other organization
(D)  None of above.

U&e R § —

(A) Be (B) fasm

(C) @ert 3R fasm= < (D) 314 ¥ @Ig 7T |
Management is :-

(A) Art (B ) Science

(C) Art and Science (D) None of these
SIfoT T & —
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23.

24.

25.

26.

(A) srfard (B) armawd

(C) feo® (D) &< & q9idT |
Labeling is:-

(A') Compulsory (B ) Necessary
(C) Voluntary (D ) Wastage of money
qI A AR I B —

(A) sTTS (B) <iafeiT
(GREainE (D) =UR =T |
Maximum wide scope is of:-

(A) Brand (B ) Labeling
(C) Packing (D) Trade mark.
s &1 Seed © —

(A) =Ifad Damell &I MHNT BT

(B) UTE® Bl AT <11 AR ANGE HRAT

(C) A&l &I YR BN

(D) s9°H | BT T8 |

The purpose of advertisement is :-
(A)  To attract potential buyers

(B) Toinform and guide customers
(C) To make publicity of product

(D)  All of the above

<Te bl F0T UR BT & —

(A)  Rer &9t )

(B) uRda==iieT &meT <)

(C) 9 =t o

(D) swa # & I8 |
Long —term loan bears:-

(A)  Fixed rate of interest
(B)  Flexible rate of interest
(C)  Zerorate of interest
(D) None of above

ST §oh affqpd &1 Fadl 8 —
(A) R HRiEe ol

(B) uRdaweia srifiar doft

(C) fafa vd At srifia 4ot
(D) Sudad ||
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27.

28.

Working capital may be classified into:-

(A)  Permanent working capital

(B)  Variable working capital

(C)  Regular and seasonal working capital
(D)  All of the above

IS 8T 8 —

(A) STBTA (B) HeghTeAl

(C) dremTet (D) Y eraferdl @ foru |
Planning is :-

(A) Short —term (B ) Middle —term
(C) Long —term (D) For all term.

o afds &7 gdbsd & fore gamar Tar fioRT 211 I8 P © —

(A) =g (B) &<

(C) T (D) &2

“A Plan is a trap to capture the future.” This statement is of:-
(A) Newman (B) Hurley

(C) Allen (D) Terry

Multiple Choice Answer 1 To 28.

1) D 2)C 3) A 4) A 5)C 6) A
7)B 8) A 9) A 10) A 11) A 12)B
13) A 14) A 15)B 16) D 17) D 18) B
19) C 20) B 21) C 22) B 23) C 24)D
25) A 26) D 27)D 28) C

%k 3k 3k 3k 3k 3k %k >k >k 3k 3k 3%k %k >k >k 3k 3%k %k >k >k >k 5%k %k %k %k %k %k 5k *k *k k
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“ wug—Il (UNIT-11) |\

oY I e (Short Type Question)

frder — el 9gd AR oY ST g f@d T 2| ulleT H ¥ RE 8 U QY iy SR W 8yl
& IR AT SRS BRIT | UAd U I 3 B BT | R URIAT H AT ¥ ORE A U & IR QI
T TS 3(H UT B A |

(Numbers of short answer type questions are given below. 8 questions of similar type will
be given in examination and answer to all 8 questions are compulsory. Each carries 3
marks)

1. g9-foee fag qm 2 ?
What is Break-Even point?

T4 IEHT TIT FHI URH BT 8 Al PHAd | I o™ 8] Bl 2, dfed Ho Al ddb 39 oM
T8I BT © SR AT &1 81 Bral &, oy w9—fa=ag fdwg ®er i & |

In economics and business, specifically cost accounting the Break-Even point is the
point at which cost or expenses and revenue are equal. There is no net loss or gain and
one has “broken even point.”

2. IR fhay IR & B0 & ?
How many types of opportunities?
=T Rerfay # SfavR T UHR & B & —
i, YIMEROT H fAEMM AR — B AGWR VA B B, Sl Usel W B IRV H HIGE B, SIRI—PBITo],
HUSI, ST ST | 99 STH §{Y dGeld ol il © |
i, T R — U9 IR ST U8 ¥ HIgE T8l 8 8V 3 URRYMT & iR S 6y 9 2|

SRi—<forfao™, &ex ganfs |

In normal ways there are two types of opportunities:-
i. Existing opportunities in the environment: - Some opportunities are exist in our
environment like there is need for some changes.
ii. Created opportunities:- Those opportunities which does not exist hence we have to
create in depended on situation. Like- T.V., Computer etc.

3. QIR & g foheH UaR & ?
How many types of Environment?
TR e /1 UBR B B 2

i. ofdR® TRV — AARed UYITaRTT & T 9 Ted A 2, R W el &1 fFgavr @)
SR, IedTed, Yoil, 51 g |

ii. 9 TRT— 396 IfAd d Ued A B O R ARl &1 bl AREer T8 S g oii—
AR, UTEd, Tl ST |

There are two types of Environment:-
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1. Internal Environment: - Those types of environment which has full control of
entrepreneur i.e., land, production, capital, labour etc.

2. External Environment: - Those types of environment which has no control of
entrepreneur such as competition, customer etc.

4. 3T fAsor T R ?
What is Product Mix?

IcTe s 9§ omer ol Wifad avg a1 a1 ¥ 2| O sar @1 Jraegdsane & dqel el
g | I8 o Scares i &1 fa9=d v fFofaor g 2

Product mix also known as assortment refers to the total number of product linear that
a company offers to its customer.

5. HREMET INd T & ?

What is Factory cost?
FHedl Al S D FEdl ¥ dRE H A= ufdharell ¥ [oRd 8¢ Udd AT § daordl B, 39
TR R AT dREAH H S 4T @9 BT 2, 39 SREFT SURII HET ol 7, d g SRAM]

T Bl ST 2 |

Factory cost refers to the total cost required to manufacture goods. This concept is the basis for
several cost accounting analysis that is called factory cost.

6. STUS T & ?

What is Brand?
IATEHh! JqdT FFATArell gRT U= IUTE &l Ugad & forv 59 amaiRe fore &1 wanT fhar Sar
2, S 9198 el Ol 2 | e idTd dls e, 31eR, Udld, feuig- st IMAd & Idhd 2 |

A brand is a product services or concept that is decided by entrepreneur and use with product name.
Brand may be word, alphabet, symbol, design etc.

7. SMYMBIHOT RIT & ?
What is Modernisation?
AT & TR H § I8 B oIy AE DI AU IAE BT MY g9 I84T 81| g S| B T,
f¥d, MR, SIS &1 YANT a1 ST Hepar &1 39 I A Teb 3R &l Ul gp1g oW HA
gRfl 981 UTERI @1 TAaH gHa BI SMYf a2 |

Product companies are always looking to be on the top of marketing so it is very
necessary to improve in product. Improved in product in ways of colour, variety, size
etc. In that case the cost of product is reduced and demand of customer impressed.

|| gus—III (UNIT-111) ||

< ST 31 (Long Answer Type Question
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freer — 8l 98d AR < IR U QA T 2| e H sl oRE 3 U Ay S SR W 3 gl
@ IR AT AR BT | U U B 3 P BN | 3R GRIeT H 377 1 '8 ¥ Yol & IR
Td 31 3fh UTd B D |

(Numbers of long answer type questions are given below. 3 questions of similar type will
be given in examination and answer to all 3 questions are compulsory. Each carries 6
marks)

AR IR AT B G T FEeT © ?

What is the relationship between opportunities and Entrepreneurship?

TR TAT I & I I Fay § O UM IR Avell & d1g BT B 98 Ul # & AT Hiee
qerrert € &R S # ey t&d | Serll w0l w8l &7 U SR’ & £ o 39 gl & 4™
Sia—qcg $T Hag B | I FaY el 3faER Pl UgAH PR IY (fed dal & A= Fafda SerI
BT TR IFD! ARAADAT BT b AT © | $Hd oIy FAEA AMS JSTdhR Uolde. HI RITI=T
JARFT FRaT T | 39 dXE ST AT AR Bl AT HY g8 USd B

YA BT HU — 09 59 WU H STH IR H I R IT (AT ek § | 319+ AWydr Ug
EHAT & ATHY ATHR Bl UgaH IR S [A8d B BT BM Bl © | SHD AT FaUTH IqD A9 H
fIar(ldeas) S ot 8, 9 f9aR &I 98 uRaer & 1T favafdd (Analysis) &xar € | FEfd STHaHRy
UT HRP Ulolde & I TR fIOR HRd H9 Udhl BR oidl & & SO T BT 2 |

Uadd $I B — " AT & GARTD PR o D 918 I[F A2l ‘DY FAT 87 b JE W TR wRar 7 |
TI—FHOT & §RT T Ulolde &1 RITUAT SRl 2 | 59 a8 Al & BR [JaRT &1 FHaMd | 3R9 BlaR
JIoide 1 AU BT PR FATK BIdl & b 4% Uleide b1 WUd R a7 13 A I B FHC
B B S7aT dfed S0 eRe Rfd § 99 AT W SHBT B B |

The relationship between opportunity and entrepreneur is similar to the water fish relationship.
Fish has no chance of survival in absent of water that looks for its food in water and lives in it. To an
enterprising seeing fish water is its opportunity and a life-death relationship exists between them.
After obtaining various relevant information”s an entrepreneur evaluates the reality and then he
determines and ensures to establish a new interprise after dual consideration in term of managing
resources for it.

Mode of Identification: - An entrepreneur by exercising his prudence and perception identifies
certain opportunities and starts contem planting on various aspects under the prevailing
environment. Taking into account the existing circumstances newly innovative ideas are conceived
in his mind and he begins to analyse and weigh all the pros and cons before obtaining the relevant
information with regard to his planning of the project on his mind. After deliberating over all the
relevant aspects he arrives at a firm decision now what to do next.

Personality of the Innovator :- After determining “what to do next,” an entrepreneur now comes
to determine his modus operandi on the project at hand and the removes ahead and establishes
the new project. As such, the job of an entrepreneur beings with the ideas which lead to the
establishment of the project. But not only this, all in not yet over, rather his actual work starts now
onwards as he is supported to ensure the viability of his newly established project and its
sustenance in the time to come.

. g—faevg faveiyor & q=udre R g ?

What are assumptions of Break-Even analysis?
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10.

FA—fqeee faemor fost J=gdrel R iR & —
1) uRITTNSA AT B ATUIIRAT -— I A ST & b I & YA WR R Ul §bls uRda-eid
R ReR TEch € 1T I8 aNTd ScTe &1 A1 H gRdas 8F WR Surfad w9 # uRdfrd gl 2 |
2) FH—fdewe faveiyur JMERYd AIaT I8 & & dNTd @& 841 dcdl &I &1 9§ 3fiiq ReR arrd eiR
Rl arTa # fofra fasar o Faar 2|

3) RerR o &1 MREAAr — T IURA W PR IAGT &l ddb [hdl B AT H IHEA B W)
Rer amra & @t Wl fAREd &k smRdfia = 2 |

4) ANTAl BT YW AIER — ARl BT FaeR Y@ (Linear) 8T & 31 dFTd GHG! BT @ W)
UERIT B IR UH A @1 a9l © |

5) AWM Hed WR ¥ ReRrdl — arnTa @ fafi= a@l Si— amRfl, A97gy) iR o1 alf & dey # a8 "M
forar Sam € fo AiRed oy # I @Ig uRda+ &1 8|

6) o Rerdar — a8 79 forar Sirar € f& R s & forv av-—fawse fagevor fean imam g, S«
3rafy § Iwured ugfa, FHl &) G 1 ddhe! iR # iR T8 BN |

Break-even analysis is based on three following assumptions:-

1) The variable cost per unit is fixed production-oriented but undergoes a transformation
proportionately in relation to a product.

2) All the elements of cost are divided into fixed or variable cost.

3) The stock valuation is restricted to a certain cost.

4) There is always coordination between production and sale.

5) This analysis is related to one product and in the event of several products sales mixture is
transformed into cost.

6) The cost and receipt are influenced by the volume of production.

Sl & faff=1 UaRI &1 quie o |

Explanin the different kinds of caital.

79 e 390 & O IR @ Hog1 T8 & I Fhdl § 31D I IHR Yol & a7 fhedt f SuspA
DI FAT YT UG & AT oIl aeAT BT Sila Iad 2 |

ISl 459d: & UhR & Bd § —
i. I Yol (Fixed capital)
ii. @il 4ot (Working capital)

i, ot Ooft (Fixed capital) :— el §o0 &1 oraer Uoil W wed & | @l IS & emery I &
9 9RT ¥ & et Ao werll dufadt - qff, 9949, 999N, SRR IUaR offe &l WNiE @
forg foar Siran € woe vd AR (Flaney & Miller) & 319R, IRl Uil JefHicds gite | Iy
g@fd & Bl & fT9eT SRR a9 & HaTed ¥ BT § iR I8 fama & forg =18 el 5 1" 39
WE DI Yoll DI W B BT HRU IJg 8l BT [ AP Jod VIR 8l & dfcd SIdT GANT
et © oy fhar SIar § &R g7 dRelar &l ST 81T § | Il GOt afem, otas qem gfenyfoat
& frtae dorr faRre foxfa Heermel | <rddrela ol & w9 9 Ui 81l & |

ii. HRIRNE Uslt (Working capital) :— 591 R 9Mg &1 <1 Y89 & o 9o+ Jmavdd §
S UHR IqAR BT Sifdd W@ & forg Rl 4ot @ snmawdar g B feg erieie on
JAMILIHAT I AfH AT HH IF1 &1 BIMBRS & | AR el § Hrdfiar Yol 4 ey dre] |ufadl &
=T SR TR SNfEa ¥ 8| SN Wl # Al Ire] Wufadl & IRT H 9 4re] <@l & I Dl Fer
faam S a1 S WY 92T, 98 BRiEid Yol e | Al Wufadl ¥ MR 349 |ufadl ¥ 7 o Rer
T YEHY gSoldl I8dl 8, W— BT H b, db H JAdbs, Ay IR, 3ifqw <sfoan, uea oy, U™
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11.

faar anfe Safd =re] SR | e 99 IR W © dT Jumeiy YIar &A1 8l & oli—dd
sffRfdey fafder oFeR, <afdd, sred =g afe

Capital is of two kinds:-

i. Fixed capital

ii. Working capital

i. Fixed capital :- Fixed capital is also known as fixed assets which refers to that part of
the capital which is invested on fixed assets, i.e. land, building, machinery, furniture and
equipments etc. According to Flaney and Miller, “Fixed assets are assets of relatively
permanent nature used in the operation of business and not intend for sale.” The reason
of terming it is fixed capital because its price remains the same and permanent rather it
is used in the long term which lacks to liquidity. The fixed capital is obtained by issuing
shares debentures and securities and securing long terms loans from various financial
institutions.

ii. Working Capital :- Working capital refers to the excess of current assets on current
liabilities. In other words, if the sum of current liabilities is subtracted from the total sum
of current assets, whatever remains its termed as working capital. Current assets refers
to those assets which continue changing rather than being fixed, viz; cash in hand, cash
at bank, sundry debtors, closing stocks, bill receivable, marketable securities, prepaid
expenses etc, where the current liabilities of which the immediate repayment is to be
made viz; Bank overdraft, creditors, bills payable, unpaid expenses etc.

yder & fafer= fagrodmen & fademr i |

Explain the various characteristics of management.

1) & us ufshar & (Management is a process) i— Uae U&h UihAT § Rifdh $HD 3ATd 3D BRI
M B O SR @ g B g1 Ig AIRNTG Ufhar ® @ife ueudd &1 qEd: dRl & "e
Wdal | Gfa T | ey Tw e fohar M © aaifs s i ARl &7 wanT fhar S 2 |

2) gdg U dMfed o & (Managemnet is a group activity) -— Udeg 9eN AMRE UATEl Bl Hed
<dT © | I8 Afdadl & Uh 9HE ® O el ke @ forarell @1 e dRar ¥ o WRenm @
S B Ui e cafdadl @ FRrdT @ Sl @ 7 b i afed faRw & et

3) udy & Haq fhar 8 (Management is a continuous activity) -— eI # fARAR TARImRIT BT
FHER g IR R DI MMLIHAT I8! © | S BRUT Yae DI U FAq [haT Hal ST & |

4) wey derm U9 fasm= <M1 ® (Management is an art as well as science) -— Uae &1 &l T &
3R fagma ff wifd g9d AP Ud Bolicdd ®Ul BT AT 8! fHAT ST Adhdl 8| Holl & U H
geer 3nfe faRivaml 2 iR s @ ®u # &R iR uRomA &1 Hdy, Rl &1 adeon, aradr &
aRRomHl BT gargar fe faRivard & | 7 dag udy ®ell vd fasie <M § |

5) gder g |EIT far & (Management is a social process) -— Udgd Hi& U I HdY JGH D
AT UeT W BIAT 2| R @ 9 HHAR Gl & B 3R ¥ o1 T g 9 fdwm
ARSI far & & 3T 21 39 | # d=(Brech) & 1UR, 'Udy H AMA d@ BT BHT AHINIS
fohar &1 faRy Steror U e ® I

6) yda wH Y3 & (Management is a profession) — @@ & SifcadrRlil & &R fHAr @
ATEATRID HIIT BT Yae bdel AMRI S IT A S AR R Tl [HIT ST Faball | 3fUg g9
foU gderemes &1 orsT Al BFT Aty | gedy fasma | faRre s, uferor & gfden, dar e,
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1)

2)

3)

4)

5)

6)

R Afedr vd faltne s &1 9o SuanT onfe vt Uer @ faRward ol ot 21 or: ' Us
e B |

Characteristics of Management:-

Management is a process: - Management is a process that includes various activities
which lead to the attainment of predetermined objective. It is social phenomenon
because managing of the activities is linked to the people who manage them.
Management in also an economic activity because it uses economic sources.
Management is a group activity: - Management is a team work or the management
always spurs a joint endeavor. It is group of people that operates that a the activities of
an enterprise and the attainment of the objectives is possible by the collected efforts of
a group of people rather than by an individual”s efforts.

Management is a Continuous activity:- In business there is a constant Endeavour of
commission and omission of activities is therefore, known as perpetual or a continuous
phenomenon. The size and the varying circumstances, has further complicated the
process of management.

Management is a an art as well as science: - Management is both an art and science, as
well as and are so well knitted, that are inseparable. As an art, the management refers
to behavioural service efficiency, skill, constructive thoughts ideas and development
through practice etc. Thus, management is a dichotomy of art and science.
Management is a social process:- In business, management is related to the human
aspect. All the workers is an organisation are the organs of the society. Thus, their
leadership and management are the part of social activities. In this context, Brech
remarks, “Presence of human element in management is its testimony of a social
activity.”

Management is a profession: - In view of the constantly growing complexities is any
business, depends no longer, on the general knowledge, common sense and experience
only but deep knowledge of in management is the need of the hour. In management
science, an extra knowledge, training facility, sence of dedication, good behavior sence
and code of conduct, all in totality along-with all the essential characteristics of a
profession are involved. Thus management is a profession of which the education is
imparted in various universities and academic institutions.

%k >k 3k 3k 3k 3k %k %k >k ok 3k 3%k %k >k >k %k 3%k %k %k >k %k %k %k %k %k %k k
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